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Y033 Fodes
KEY ANSWERS

zodes xesd, : 81-K/E (UNREVISED)  Code No. : 81-K/E (UNREVISED)

2t BIARY oS, : 40 + 40 + 40 = 120 | [ Total No. of Questions : 40 + 40 + 40 = 120

SRod : NS

Subject : MATHEMATICS
85 T,30300T0 BZRVR ST OFPHE JewENeR ToOY, SoNTR) AeBOINT. SN, BOIRT

UOZTTRY, 02 AR NEBINTOT  %.900.&TF. ( OMR ) 03T T FoDY D T FF)
TD02008) LPLF TTEN00ESE FTFROT BOKINT eI 0 36 SRR 40 X 1 =40

Four choices are given for each of the following questions / incomplete statements.
Choose the correct answer among them and shade the correct option in the OMR

Answer Sheet given to you with a black / blue ball point pen. 40 X 1 =140
1. A={2,3,7,8,9}5333_DB={1,3,5,6,7}@:3(':58,AﬂB=

(A {2, 93} (B) {3, 7}
(C) {5, 6} (D) {1, 2, 3,5,6,7 8, 9}
evZo: (B) (3, 7}

1801 (KA [ Turn over



81-K/E (UNREVISED) 2

If A={2,3,7,8,9'and B={1,3,5,6,7}then AN B=

A {2, 9} B) {3, 7}
(@] {5, 6} D) {1, 2, 3,5, 6,7, 8 9}
Ans.: (B) {3, 7}

2. 50 %JIT MOOXTY, 30 TITO &30, 25 RITO FoYOTY Tone 16 RITO 8¢ =Y Ty
DTBEIR, Q@ﬁdo@gd. TOR LB &3¢ omvg)mddmod@L ORFRIBBT xosjag

(A) 11 (B) 22
< 39 (D) 40
g (C) 39

In a group of 50 persons 30 like tea, 25 like coffee and 16 like both tea and coffee.

The number of persons who like either coffee or tea is

(A) 11 B) 22
©) 39 (D) 40
Ans.: (C) 39

3. 4,8, 16, ..... B3 MORREZT 3,030 mmseg EITOTT

1
@ 3 ®
< 4 (D) 2
wgs: (D) 2
The common ratio of the Geometric Progression 4, 8, 16, ..... is
1
@ 3 ® 5
c 4 (D) 2
Ans.: (D) 2
4. 1 53333 9 T JIBOND 5@3@6 535@;329
18
@) 3 B 15
9
© s D) 15
. 18
wgs: (B) 0

1801 (KA



3 81-K/E (UNREVISED)

Harmonic Mean between 1 and 9 is

@ 3 ® 1o
© s o =
Ans.: (B) %

20T ARI0BT 3,0, 145¢ mwg’% 185¢ [TOOT IYTeNR, 32 AMOTT. ToMoms

mmszg wz@éx

(A -6 (B) -4
< 8 (D) 10
wgs: (C) 8

In an Arithmetic Progression if 14th term is subtracted from 18th term, the result is

32. The common difference is

(A -6 B) -4
< 8 (D) 10
Ans.: (C) 8

20830 FRR0ST 3,eR0D BATY ‘n’ BTNY Hee S, = on? + 5n SBT3, ©9E3 ATEIC TS

A) 11 (B) 12
C) 14 (D) 15
evZo:  (A) 11

If the sum of first n terms of an Arithmetic Progression is S, = 2n? + 5n, then its

second term is

A 11 (B) 12
(@] 14 D) 15
Ans.: (A) 11

18 33080 45T 30.%9..

4 3 B 9
(©) 18 (D) 90
wgs: (B) 9
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81-K/E (UNREVISED) 4

10.

The HCF of 18 and 45 is

A) 3 (B) 9
(C) 18 (D) 90
Ans.: (B) 9

(01+11)3233

(a) 0 B) 1
€ 2 (D) 10
gT:  (C) 2

The valueof (O!+11) is

@A 0 B) 1
) 2 (D) 10
Ans.: (C) 2

"c, = "C, R, N’ I U

A) 14 (B) 15
€ 16 (D) 20
Vg (D) 20

If "c, = "C,,, then the value of n’ is

(A) 14 (B) 15
€ 16 (D) 20
Ans.: (D) 20

evipovialy eﬁo%ojoabq RDVTORSFRT 1, 2, 3, 4, 5 BOINYOT TWRWIOTT
DRBTOT TV -903 083 1Y 2edd %0
) s S e )

(A) 96 (B) 102
€ 114 (D) 126
ST:  (A) 96

1801 (KA
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11.

12.

5 81-K/E (UNREVISED)

The number of four-digit numbers more than 2000 that can be formed using the

digits 1, 2, 3, 4, 5 without repeating any digit is

(A) 96 B) 102
©) 114 (D) 126
Ans.: (A) 96

20T eﬁ@swa& ReRss X0edwRecddgodn 0.3 ST, ene eﬁmmq LT FOWRNEOS

(A) 0.3 (B) 0.7
(C) 0.5 (D) 1
g (B) 0.7

If the probability of winning a game is 0.3, then the probability of losing the same

game is

a) 0.3 B) 0.7
(© 0.5 D) 1
Ans.: (B) 0.7

o0 x BB WRTF WO 0 BTN BRVFS MIT0TFITY, FORILRODLD WIRIT ARE,

A) = x 100 B) = x 100
X (e}
c — 100
(C) 100 X X (D) T X O
wIT:  (A) 2 x 100
X

If Arithmetic Mean is x and Standard Deviation is ¢ then coefficient of variation is

calculated by using the formula

A) = x 100 B) = x100
X o
c — 100
(C) 100 X X (D) T X O
Ans.: (A) 2 x 100
x

1801 (KA [ Turn over
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13.

14.

15.

@fa@idoas efasog 3T éfae*’e%ﬁd ESlopyste)

x 3 8 13 18
f 1 2 3 4

(A) 10 B) 11

€ 12 (D) 13

ev3o: (D) 13

The Arithmetic Mean for the given frequency distribution table is

X 3 8 13 18

f 1 2 3 4
(A) 10 (B) 11
C) 12 (D) 13
Ans.: (D) 13
3Va - 5Jb o Foczon
&) -3Ja +5/b B) 5Ja - 3Jb
©  3Ja +5/b D) -3Va-5/b

evZo:  (C) 3Ja + 5Jb

Conjugate of SJE - 5,/3 is

(&) -3Ja+5Vb (B) 5Ja -3Jb
(©  3Ja +5Vb D) - 3Ja -5/b
Ans.: (C) 3Ja + 5Jb

(V3 + 45 )? wss i

(A) 8+2415 (B) 18 +2415
(©) 20+2415 (D) 34 +2415

3T:  (A) 8 + 2415

1801 (KA
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17.

18.

7 81-K/E (UNREVISED)

The value of (\/§+ Jg )2 is

(A) 8+2415 (B) 18+ 2415
(C) 20+2415 (D) 34 +2415
Ans.: (A) 8 + 2415

(xs—a2x+x+2)d®wwSF5 (x-a) 8Smen, a’ s BS

A 1 (B) 2

< -1 (D) -2

Qwgs: (D) -2

If (x-a)isafactor of (x3—a’x+x+2 ), then the value of ‘a’is
A 1 (B) 2

€ -1 (D) -2

Ans.: (D) -2

4x3 +5x% - 7 WRTSRFOD HBTIT0 T3 (BN,

@A -7 (B) 2
€ 3 (D) 4
vgo:  (C) 3

The degree of the polynomial 4x3 +5x° -7 is

@A) =7 (B) 2
< 3 (D) 4
Ans.: (C) 3

(x—4)(x-3)=0 BAETTT WO TRV 4 STT, BOZR 0T WY

A -3 (B) 3
€ -4 (D) 2
Qwgs: (B) 3

If one root of the equation (x—-4) (x-3) =0 is 4, then the other root is

A -3 (B) 3
©) -4 D) 2
Ans.: (B) 3

1801 (KA [ Turn over
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1

19. k = o) mV?2 338, Voo
m 2m
A + |— B + ==
(A) ok (B) e
k 2k
C + [— D) + ., =
(C) om (D) —
Qwgs: (D) + ‘/%
m
If k = % V2, then Vis
m 2m
+ [— + =
(A) ok B) =+ e
k 2k
C +  [— D) + .=
©) o (D) —

Ans.: (D) + ‘,%
m

20.  x® -2x+ (k+3)=0 INFRRBTET 2,080 BoweR) A 0IRNIEES, Kk’ S WS

A -3 B -2
< +2 (D) +3
Qwgc: (A -3

The value of ‘k’ for which the quadratic equation x? —2x+ (k+ 3) =0 has one root

equal to zero is

@A) -3 (B) -2
<€ +2 (D) +3
Ans.: (A) -3

21.  ax? + bx+ c= 0 [INFICBTIT BRCTT

(A)  a? +4bc (B) b2 +4ac
(C) a2 -4bc (D) b2 - 4ac
ev3d: (D) b2 - 4ac

The discriminant of the quadratic equation ax? + bx+c=0 is

(A) a® + 4bc (B) b2 + 4ac
(C)  a? -4bc (D) b? - 4ac
Ans.: (D) b2 - 4ac

1801 (KA
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23.

9 81-K/E (UNREVISED)

@ms;jdoas SFOR WRFRCTFTED,
Y
{1
+3
+2
+1
A x
)
A)  x?+x-6=0 (B) x?-2x+3=0
€ x°-x-6=0 (D) x%2+3x-2=0
ev3d:  (C) x2 -x-6=0

The quadratic equation for the given graph is
y

¢ +3
¢ +2

¢ +1

XT3 N\ 1 O] +1 42 A3
-1
-2
)
A)  x%+x-6=0 (B) x?-2x+3=0
€ x°-x-6=0 (D) x2+3x-2=0
Ans.: (C) x?2-x-6=0

GeOTT TN ROFRTI DTWD RFgRR FFODWBOTT W, 83 AW, ATEENY xosj?j /&0

(A O (B) 1
< 2 (D) 3
g (C) 2
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81-K/E (UNREVISED) 10

The number of transverse common tangents that can be drawn to two non-

intersecting and non-touching circles is

@A) 0 (B) 1
€ 2 (D) 3
Ans.: (C) 2
24. BT, O’ Teow,NTOW B Y A ABC 0, 0ITNT. AP = 4 cm, CR =3 cm
®B) BQ = 5 cm &TT, A ABC 0 BoBE
A
4 cm
p
O
L ]
3 cm
B 5 cm Q =
(A) 20 cm (B) 24 cm
©) 26 cm (D) 28 cm
Qwgc: (B) 24 cm

In the figure ‘O’ is the centre of the circle which is inscribed in A ABC. If AP= 4 cm,
CR =3 cm and BQ = 5 cm, then the perimeter of A ABC is

A
4 cm
P
0]
[ ]
3 cm
B 5 cm Q =
(A) 20 cm B) 24 cm
(C) 26 cm (D) 28 cm
Ans.: (B) 24 cm

1801 (KA
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26.

11 81-K/E (UNREVISED)

W3,z ‘0’ 30003, 0TI TR DFFCOR, 00 wéﬁ%d C ENVICY) C, ne & as ned 3,300 5
cm 08 13 cm &SN, C, w wm Nérww %, AB oD erod

)

(A) 12 cm 16 cm
(C) 18 cm (D) 24 cm
Qwgs: (D) 24 cm

In the given figure ‘O’ is the centre of two concentric circles C1 and C, of radii 5 cm

and 13 cm respectively. The length of the chord AB which touches circle C1 is

)

(A) 12 cm 16 cm
(C) 18 cm (D) 24 cm
Ans.: (D) 24 cm

6 cm &%, 0T B FF WS $e03, 00T 8 cm TATBOTH L0 WOTNIOT YT AJF3TI
o

(A) S cm (B) 10cm
(©) 7 em D) 247 cm
Qwgs: (D) 2J7 cm

1801 (KA [ Turn over



81-K/E (UNREVISED) 12

The length of the tangent drawn from a point 8 cm away from the centre of a circle of

radius 6 cm is

(A) S cm (B) 10cm
(C) J7 cm (D) 247 cm
Ans.: (D) 2J7 cm

27. WT ‘0’ o, HoTd %g%ﬁ APB B3N, £ POQ = 100° <333, £ BPQ & &$3

°D

(A)  50° (B) 40°

(€)  30° (D) 20°
QIT:  (A) 50°

In the figure APB is the tangent to the circle with centre ‘O’. If £ POQ = 100°, then

the measure of £ BPQ is

°D

(A)  50° (B) 40°
(€) 30° (D) 20°

Ans.: (A) 50°

1801 (KA
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29.

13 81-K/E (UNREVISED)

B\ ABC 09~ A=90°. AD 1 BC &Tg, % =
2
AB AB
© |22 i o) 2B
AD AD
AB )
wsd: (A) [_)
= AC
In BN ABC, 2 A=90°. If ADL BC then % -
2
AB AB
o [48) o) AB
AD AD
2
Ans.: (A) [ﬂj
AC

A ABC 03> @@0n$es BC, CA 383 AB 0 3053, 00T0N%0 §,:3050N D, E 308 F $TT, A

DEF QR¢edF 8, A ABC 0 QX 0£9F B, QT &TT0T

(A 1:2 B) 1:4
€ 2:3 (D) 4:5
vZT:  (B) 1:4

If D, E and F are the mid-points of sides BC, CA and AB respectively of A ABC, then

the ratio of area of A DEF to area of A ABC is

A 1:2 B) 1:4
(@)} 2:3 D) 4:5
Ans.: (B) 1:4
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30.

31.

i@éidoﬁ WSTYS A ABC 009 XY || BC SN, AX=m-3, BX=2m- 2 5333

AY 1 s m 3¢

Cy 4

C

N Y

| A

B 2m-2 X m=3
@A 7 (B) 6
< S (D) 4
wgs: (C) 5

. . AY 1

In the given figure in A ABC, XY || BC. If AX=m- 3, BX=2m—2andE=Z,

then the value of ‘m’ is

o
N Y
[ ] A
B 2m=2 X m=3
(A) 7 B) 6
((©) I D) 4

Ans.: (C) S
%), ajaéofoa wéwwm RN 24 m BOR T0ST Npvclela) 3B 7 m ?3@%3335. BN 003
WOTVR0T aﬁgﬁ QTR TRT

(A) 17 m (B) 25m
(C() 26m (D) 31m
wgs: (B) 25 m

1801 (KA
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33.

15 81-K/E (UNREVISED)

A person goes 24 m due West and then 7 m due North. Now the distance of the

person from the starting point is

(A) 17 m B) 25m
(@] 26 m D) 31m
Ans.: (B) 25 m

R, oNiR0E0R &, 10T YVTHTTTH

@A) 7,09, 11 (B) 4, 5, 6
(C) 6,8, 10 (D) 5, 8, 9
evgo:  (C) 6, 8, 10

An example for Pythagorean triplet is

(A) 7, 9, 11 B) 4, 5, 6
©) 6, 8, 10 D) 5, 8,9
Ans.: (C) 6, 8, 10

sin A = % B ‘A’ ©POERETDTON, cosec A T WS

5 2
A — B -
@ 3 B 3
3 5
C = D -
© D) 3
3T (D) >
= 3
If sin A= % and A is acute angle then the value of cosec A is
5 2
A — B -
@ 3 B 3
3 5
C = D -
@ 3 D) 3
5
Ans.: (D -
ns.: (D) 3
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34. 3TY ABC 00udRes &EdRTINGD £ B = 90° &G3, AB = x, BC = J3x =33, ‘00 T

S

A
pe
0 []
¢ Bx B
(A)  15° (B) 30°
(C)  45° (D) 60°

Q3T (B) 30°

In the figure, ABC is a right angled triangle with £ B =90°. If AB=x, BC-= 1/§x,

then measurement of 0 is

A
X
6 []
c Bx B
(A) 15° (B) 30°
(C)  45° (D) 60°
Ans.: (B) 30°
35. (3, -2) 0T (4, 5) WOTRTR), Fe0ROT SeaIoh QLT
a7 B) V3
-7
€ 6 (D) =
ST:  (A) 7
The slope of the line joining the points (3, —2 ) and (4, S5)is
B 7 B) V3
-7
(C) 6 (D) =
Ans.: (A) 7

1801 (KA
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37.

38.

17 81-K/E (UNREVISED)

TR WOTVNNOT A (X, Yy ) WOTINT QT TRT

(A) x? +y? B) yx*-y?
C Jx+y D) Jx-y
Qwgc: (A) x2 +y?

The distance of the point A ( x, y) from the origin is

(A) x? +y? B) yx*-y?
(€) vX+Uy (D) xX-y

Ans.: (A) x2 + y2

5 cm &,%,0TI 2,000 O TRCTT REIF doeeﬁw QR LD

(A) 25mcm? (B) 50 rcm?
(C) 75mcm? (D) 100 n cm?
w33:  (C) 75 cm 2

The total surface area of a hemisphere of radius 5 cm is

(A) 25mcm? (B) 50 nrcm?
(C) 75mcm? (D) 100 n cm?
Ans.: () 75 1 cm 2

2,000 BOBINT YJTT OB TTNE &, MY 32 cm 3O 20 cm SN, T[T .3 2T 10

cm 33T, 93T méﬁr daeeﬁw QR LD

(A) 240 ncm? (B) 260 cm?
(C) 410 mcm? (D) 520 n cm?
ev3d: (D) 520 1 cm 2

The radii of two bases of a frustum of a cone are 32 cm and 20 cm. If its slant height

is 10 cm, then its lateral surface area is

(A) 240 ncm? (B) 260 n cm?
(C) 410 ncm? (D) 520 ncm?
Ans.: (D) 520 1 cm 2
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39. B3 3YM BRIV PITRNT PIFOY

Hm

r1m

hm
@A)  2nr’Am3 (B) nr?(h+H)m3
(C) énrz(h+H)m3 (D) nrz(h+éH)m3
w33 (D) nrz(h+%H)m3
The volume of the solid given in the figure is
Hm
r1m
hm
@A) 2nr’Am3 (B) nr?(h+H)m3
(C) énrQ(h+H)m3 (D) nr2(h+éH)m3
Ans.: (D) 1tr2(h+%H)m3

1801 (KA



40.

19
3 cm &,30WNTI WOT0 RRPT POFO

A) 36ncm? (B)
(C) 9rncm? (D)

Qwgso: (A 36 ncm®

The volume of a sphere of radius 3 cm is

A) 36ncm® (B)
(C) 9ncm? (D)
Ans.: (A) 36 ncm®

18 t cm

72 1 cm

18 t cm

72 1 cm

1801 (KA
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